
[image: image1.jpg]A ball with a mass of 5.00kg Is put at the top of the ramp shown below, which is 5.00m high.
Again, disregard any frictional force.
m =5.00kg

h=3.00m

A) Calculate the potential energy the ball has at the top of the ramp.

B) If the ball fell from the top, straight down the right side, what would its kinetic
energy be the instant it reaches the ground? How do you know?

C) How much potential energy would the ball have at the ground after falling in
Ques. 3B? How do you know?

D) If the ball rolled down the ramp on the left above, how much potential energy
_would it have at the bottom of the ramp? How do you know?

E) How much kinetic energy would the ball have at the bottom of the ramp after rolling
down it? How do you know?

F) How do vour answers to Ques. 3B and 3F compare to each other? Why is this so?




